## **CURRICULUM COMPENSATION**

I RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL TEACHING PLANNING APRIL 10, 2023, \$33.88 PER HOUR, 2.5 HOURS FOR A TOTAL OF \$84.70 EACH: (10-2210-0000-1341-531-3)

Harness, Amanda

Londrigan, Amanda

II RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR BLACK HAWK ELEMENTARY SCHOOL PLANNING ACTIVITIES APRIL 27, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-531-3)

Harness, Amanda

Londrigan, Amanda

III RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING APRIL 24, 2023, \$33.88 PER HOUR: (10-2210-0000-1341-531-3)

Baldin, Jennifer	1.25 hours	\$42.35
Brillhart, Sarah	2.25 hours	76.23
Foster, Carmelita	1.75 hours	59.29
Moore, Lori	2.25 hours	76.23
Nolen, Emily	2.25 hours	76.23
Punke, Lindsay	1.25 hours	42.35

IV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR FAIRVIEW ELEMENTARY SCHOOL BACKWARDS PLANNING APRIL 26, 2023, \$33.88 PER HOUR, 2 HOURS FOR A TOTAL OF \$67.76 EACH: (10-2210-0000-1341-531-3)

Baldin, Jennifer

Brillhart, Sarah

V RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY LEARNING CENTER COACHING WITH INSTRUCTIONAL LEADERS APRIL 19, 2023, \$33.88 PER HOUR, .75 HOURS FOR A TOTAL OF \$25.41 EACH: (10-2210-6431-1341-481-3)

Becker, Brooke Crumbaugh, Lisa Justison, Mildred Kieffer, Shelley Loken, Susan VI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR GRANT MIDDLE SCHOOL EDMENTUM TRAINING OCTOBER 12, 2022, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-531-3)

Archey, Heather K

Gibbs, Katie

Mcmillan, Rachael

Romer, Gina

Taylor, Kyra

Turner, Wendy

Minton, Jacquelyn

VII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR TITLE I NON-PUBLIC INTERVENTION ACTIVITIES APRIL 14 THROUGH APRIL 25, 2023, \$32.26 PER HOUR, 19 HOURS FOR A TOTAL OF \$612.94: (10-3700-0000-1243-531-3)

Lamsargis, Kathy

VIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START COACHING WITH INSTRUCTIONAL LEADERS MAY 3, 2023, \$33.88 PER HOUR, .75 HOURS FOR A TOTAL OF \$25.41 EACH: (10-2210-6431-1341-481-3)

Crumbaugh, Lisa Loken, Susan Justison, Mildred Tolsdorf, Kathleen

Kieffer, Shelley

IX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START STARNET AUSTISM WEBINAR MAY 1, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-6431-1341-481-3)

Justison, Mildred Loken, Susan

X RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR EARLY START AUTISM WEBINAR APRIL 17, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-6431-1341-481-3)

Justison, Mildred Loken, Susan

XI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL MATH ACCELERATED PLANNING SESSION 3 MAY 3, 2023, \$33.88 PER HOUR, 1 HOUR FOR A TOTAL OF \$33.88 EACH: (10-2210-0000-1341-564-3)

Borah, Jill Womble, Ashley

Webster, Stephanie

XII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION BUILDING THINKING CLASSROOMS BOOK STUDY MAY 1, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Barnard, Angela

Borah, Jill

Ciotti, Ryan

Dickman, Barbara

Fernandez, Mary

Fox, Kathleen

Logsdon, Alicia

Mclaughlin, Stacey

Midiri, Stefanie

Noll, Meghan

Pyle, Amy

Rodden, Katelynn

Fox, Kathleen Rodden, Katelynn
Gordon, Tracy Rudd, Douglas
Hanes, Decky Schroeder, Cynthia
Hayes, Latausha St. Aubin, Katrina
Hustedt, Isaac Tomasko, Kimberly
Kahl, Lindsay Webster, Stephanie

Kwedar, Rebecca

XIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MATH DEPARTMENT MIDDLE SCHOOL ACCELERATED PLANNING MEETING MAY 2, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Barnard, Angela

Horstman, Laura

XIV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION MIDDLE SCHOOL AND HIGH SCHOOL SCIENCE DEPARTMENT CHAIR MEETING MAY 1, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Allen, Laura Moore, Lindsey

Covey, James Ziemba-Montavon, Tammy

Fromm, Kelly

XV RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR CTE CURRICULUM WORK AND LAB ACTIVITIES OCTOBER 24 THROUGH APRIL 14, 2023, \$33.88 PER HOUR: (10-2210-6421-1341-252-3)

Clinton, Charles	5.00 hours	\$169.40
Devlin, Karri	17.00 hours	575.96
Dirksen, Abbey	22.00 hours	745.36
Koger, Matthew	10.00 hours	338.80

## CTE Curriculum Work and Lab Activities October 24 Through April 14, 2023, cont.

Krummrich, Patricia	10.00 hours	338.80
Lamsargis, Matthew	29.00 hours	982.52
Laub, Jill	41.00 hours	1,389.08
Moscardelli, Abigail	8.00 hours	271.04
Smoot, Kimberly	10.00 hours	338.80
Sutera, Joseph	13.00 hours	440.44
Winders, Scott	39.00 hours	1,321.32

XVI RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START STARNET AUTISM WEBINAR MAY 1, 2023, \$20.21 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$30.32: (10-2210-6431-1360-481-3)

Dickerson, Latasha

XVII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR EARLY START AUTISM WEBINAR APRIL 17, 2023, \$20.21 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$30.32: (10-2210-6431-1360-481-3)

Dickerson, Latasha

XVIII RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION BUILDING THINKING CLASSROOMS BOOK STUDY MAY 1, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82: (10-2210-0000-1341-564-3)

Hovey, Robyn

XIX RECOMMEND APPROVAL OF THE FOLLOWING CLASSIFIED PERSONNEL FOR DEPT OF INSTRUCTION INTRO TO TRAUMA TRAINING MARCH 1 THROUGH APRIL 12, 2023, FOR RATE SPECIFIED: (10-2210-0000-1341-564-3)

Boone, Deshara	1.25 hours	\$15.92 Per Hour	\$19.90
Cline, Twila	1.25 hours	\$19.41 Per Hour	24.26
Ellis, Jada	1.25 hours	\$15.92 Per Hour	19.90
Fennessee, Anthony	1.25 hours	\$30.93 Per Hour	38.66
Kappes, Karen	1.25 hours	\$28.64 Per Hour	35.80
Mcmasters, Terra	1.75 hours	\$21.39 Per Hour	37.43
Mcvey, Kelly	1.25 hours	\$26.38 Per Hour	32.98
Means, Kendall	1.25 hours	\$30.20 Per Hour	37.75
Ombugadu, Staci	1.25 hours	\$15.92 Per Hour	19.90
Sabath, Jonathan	1.25 hours	\$18.11 Per Hour	22.64

XX RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION PHASE 1 INCLUSION SITES QUARTERLY MEETING #3 FEBRUARY 2, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Dold, Jena Kent, Jena
Freeman, Cynthia Kent, Kyle
Holler, Melinda Ott, Kaylee
Hustedt, Isaac Punke, Lindsay
Joyner, Abbie Scott, Dawn

XXI RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION PHASE 1 INCLUSION SITES QUARTERLY MEETING #2 DECEMBER 7, 2022, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Brillhart, Sarah Moore, Lori
George, Cynthia Noonan, Megan
Grieme, Nathan Poppenhouse, Leslie
Joyner, Abbie Punke, Lindsay
Lauer, Karianna Scott, Dawn

XXII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION PHASE 1 INCLUSION SITES QUARTERLY MEETING OCTOBER 11, 2022, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Brillhart, Sarah Lauer, Karianna Dold, Jena Moore, Lori Freeman, Cynthia Ott, Kaylee

George, Cynthia Poppenhouse, Leslie Grieme, Nathan Punke, Lindsay Hustedt, Isaac Scott, Dawn Joyner, Abbie Woodside, Alexis

Kent, Jena

XXIII RECOMMEND APPROVAL OF THE FOLLOWING CERTIFICATED PERSONNEL FOR DEPT OF INSTRUCTION AVID QUARTERLY MEETING MAY 2, 2023, \$33.88 PER HOUR, 1.5 HOURS FOR A TOTAL OF \$50.82 EACH: (10-2210-0000-1341-564-3)

Anderson, Emily

Bennett, Janene

Brady Hanken, Kathleen

Brinkmann, Kristen

Jimerson, Angela

Jurgens, Mary

Kaiser, Aimee

Kleinertz, Larresa

## Dept Of Instruction Avid Quarterly Meeting May 2, 2023, \$33.88 Per Hour, cont.

Mcdowell, Toni Broussard, Karveta Midiri, Stefanie Burton, Tina Moskus, Aliyah Buxton, Amanda Cano, Michelle Netznik, Melissa Ott, Kaylee Coleman, Justin Deatherage, Kristy Rahman, Asima Deaton, Robert Rennison, Laura Rudin, Rebecca Freeman, Tina Greig, Anne Tennant, Mary Harris, Nicolette Thompson, Erica Totura, Jessica Hoffman, Julie Walker, Amy House, Elizabeth

Wallner, Jennifer

Hunsley-Hunt, Stephanie